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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before
you answer the questions on Answer Sheet :-

1. The answer sheets for Part-I, Part-1l &
Part-III are different. Remember you have to
mark you answer on related answer sheet.

2. Write Roll No. as given in admission card on this
Question paper as well as on the Answer sheet.

3. Write all the Nos. in English numbers only. Write
only one digit in one block.

4. This question paper contains three parts. I-Part
contains 1-50 questions of mental ability. II-part
contains 1-50 questions in Hindi language and
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12.
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16.

1-50 questions in English Language. The
candidate has to attempt this test only in one
language i.e. either in Hindi or in English. Mark
the language opted by you very carefully on the
answer sheet. IIl part contains 1-100 Questions,
each Question carry one mark.

Every correct answer will be awarded one mark.

Since the time allotted to the two parts of this
Question Paper is limited, you should make the
best use of it by not spending too much time on
any one question.

Solve the Part-I (Mental Ability) of the
Question Paper by 11.45 am and related Answer
sheet quickly sumit to the Invigilator. Part-III
(Language) paper should be sholved by 12.45
pm and Answer sheet submit to the invigilator
Answer sheet Part-III (Scholastic ability)
should be by 2.30 pm. and answer sheet should
the submitted on previous manner.

The last page of this Question booklet is meant
for Rough work.

Method of marking Answer -

To answer a question, please darken one bubble
out of the given four, in the OMR Answer Sheet
against that question.

Use only Black / Blue Ball-point Pen to
mark the answer.

Use of any calculator, log tables or any other
electronic Gadgets, Mobile phones is prohibited.

Valuation procedure -

There are four alternative answer to a question,
only one of them is correct answer. If more
then one bubble are darkened for a question, it
will be presumed that the candidate does not
know the correct answer; hence, no mark shall
be awarded.

Handing
Invigilator -

Please ensure that all entries in the answer sheet
are filled up properly i.e. Name, Roll No.,
Signature, Question Booklet No. language, etc.

Care in Handling the answer sheet -
While using answer sheet adequate care should

be taken not to tear or spoil due to folds or
wrinkles.

Please return only Answer-Sheet to the
invigilator after the test.

English version of the question paper will be
considered as final in case of any dispute aristing
out of variation on translated version.

over of Answer Sheet to




giteam &g : SENT - 10
WTT-1, HTH{E Tradar
PART-I, MENTAL ABILITY

fador: wwr iR 19 5 H U 31w A famn € formd
T W B2 g4 ¢ 39 yvarEs faw () | quita m
2197 ge fod T =R fased ° @ uw 2, 39 vifed)

1. 2,5, 11, 23,47, ?

(A 77 B) 97
(C) 95 (D) 85

2. 3,154,16,5 17,6, 2,7
(A) 12 B) 13
(C) 15 (D) 18

3. 2, 6, 12, 20, 30, ?

(A) 46 (B) 48

(C) a2 (D) 40
4. 68, 81, 96, 72, 132

(A) 105 (B) 110

(C) 113 (D) 130

5. 1,1,6,6, 11,11, 16, 7, ?
(A) 16, 21 (B)
(©) 17, 2 (D)

13, N
21, 16

et : uv FHIE 6-10 F fedd T & v F @t
W[ ¥ & yaes faw faa mn 2, fad ™ ar
famedl d @t fasey o8t gay gwiar # Stw fa fa
:: % art 3R fed M s3aRi F ea ¥ ue fawen 9

6. aﬁﬁt:m::gﬂ:?
(A) =@ (B) 3Infeai
(C) ® (D) W = Inferi

Directions: In question nos 1 to 5 there is a number
series with one term missing shown by Question mark
(?) This term is one of the alternative given. Choose

that number.

1. 2, 5, 11, 23, 47, ?
(A) 77 B) 97
(C) 95 (D) 8s

2. 3,15, 4, 16,5, 17,6, 2, 7

(A) 12 (B) 13

(€) 15 (D) 18
3. 2,6, 12,20, 30, ?

(A) 46 (B) 48

(C) 42 D) 40

4. 68, 81, 96, 7, 132
(A) 105 B) 110
(C) 113 (D) 130

5. 1,1, 6, 6,11, 11, 16, 2, ?
(A) 16, 21 B) 13, 1
(C) 17, 1 (D) 21, 16

Directions: In Question no. 6-10, there is a
question mark in the blank space and it is only one of
the four alternatives given under the question which
satisfies the same relation as is found between the
two patterns to the left of the sign :: given in the
question. Find the correct alternative.

6. Elbow : wrist :: knee : ?

(A) Ankle (B) Fingers
(C) Foot (D) Toes

P.T.O.
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10.

11.

12.

13.

14.

OIS 92 3y ?
(A) #rT
<€) z=

(B) A
(D) famm

e : SR ;A : ?
(A) &= (B) 31
(€) wR (D) s

BVSC:YEHX:: MRCP:?

(A) NIXK (B) LKXM
(C) NIXK (D) DIYM
211 :333 ::35 : ?

(A) 358 (B) 359
(C) 423 (D) 388

A F1 A 3 F fu@ # whE et # )
35T 1 G 6 WY 1 ey §2

(A) g (B) ==
(C) =mn (D) g

i i /92t ¥ | W, = ag g | 8
2| gl M | Bt & 399 HaA B &4 22
(A) ¥ (B) g
(C) (D) wm

#fg 5 el faar o1 @ 39 A ¥ fHas g9man
g2

(A) 3
€) s

B) 4
(D) IRI® FE TE

sifaa g &1 9 ® 1 < 9 & 9 ¢ | fage

a1 %1 fuan & sifua fasa &1 == 22
(A) (B) ==
(C) i@ (D) ==

[4]

10.

11.

12.

13.

14.

Food : stomach :: fuel : ?
(A) Automobile (B) Engne

(C) Truck (D) Plane

Wine : grapes :: vodka : ?
(A) Apples (B)
(C) Oranges (D)

Potatoes

Flour

BVSC:YEHX :: MRCP:?

(A) NIXK (B) LKXM
(C) NIXK (D) DIYM
211 : 333 ::356 : 7

(A) 358 (B) 359
(C) 423 (D) 388

Sunita’s mother is the only daughter of Ajay’s
father. What is the relation of Ajay with Sunita?

(A) Brother (B) Paternal uncle
(C) Maternaluncle (D) Father

Seema is older than Geeta, Ramesh is younger
than Seema and Sujata. Sujata is younger than
Geeta. Who is youngest among all?

(A) Seema (B) Sujata
(C) Geeta (D) Ramesh

If the 5" February was Sunday how many
Mondays were there in that month?

A) 3 B) 4
(C) s (D) None of these

Amit is Daya’s brother. Daya is the son of
Chandra. Vimal is the father of Chandra then
how is Amit related to Vimal?

(A) Grandson (B) Grandfather
(C) Brother (D) Uncle



16.

17.

18.

19.

20.

TR T "@ar & d e 61 fedl F s e sE |
fem grm?

(A) FuaR
(C) TFar

(B) wifqam

(D) wTEER

frferfaa § & #9 &1 911 997 379 998 4
fam 27

(A) SUT
(C) BOC

(B) XAZ
(D) MIN

35 BTE &1 U ufad o el &1 WY § 1291 WH
AN TE I S R 25T WH B 1A WA F
a4 fea 33 82

(A) 9= (0)(=E @) (B) 1

) 3 (D) 2

fam= 4 4 = gl A fa= 22

(A) fmer (B) =

(C) =gl (D) @

fFat o 4 yEe, gEU 3R fHU gEER S
yfeafmal =1 femn s g 82

(A) 30 (B) 60

(C) 45 (D) 125

FHfaal A 4 gd # 10 w2 Ford 2, fraw afe
3R qEl 3 HIZ Fadt § | I qfEl SR qeea

14 H12 9edl & 3@ 98 A | fhaft @ &2
(A) 27 W2 (B) 24 w2
(C) 5 %R (D) 4 iz

5]

15.

16.

17.

18.

19.

20.

If today is Monday. After 61 days it will
be -

(A) Wednesday
(C) Thursday

(B) Saturday
(D) Tuesday

Which of the following letter-group is different
from other groups?

(A) SUT
(C) BOC

B) XAZ
(D) MIN

In arow of 35 students the place of Bobby is
12* from the beginning. The place of Ratan is
25" from the end. How many students are
there between Bobby and Ratan?

(A) Zero(None) (B) 1
() 3 D) 2

Which of the following does not belong to others?
(B) Violin

(D) Harp

(A) Guitar

(C) Flute

The number of ways in which first, second &
third Prizes can be given to S competitors.

(A) 30 60
€ 45 125

(B)
(D)

Kavita walks from A in the East 10 feet. Then
she turns towards right and walks 3 feet. Again
she turns towards right and walks 14 feet. How

far is she from A now?
(A) 27 feet
(C) S feet

(B) 24 feet
(D) 4 feet

P.T.O.



fador: wom wuieh 21 W 25 § wvA F wgw wyri H @1 Directions: In Question Nos 21 to 25 there are

sTfaal # 1 gue wm H§ us enefa 2, At smpfa 3w two shapesin first part of the Question. Second part

At ¥ A TR - of the Question contains only one shape, choose 4th
shape from answer shapes.

21. ?31 S = | e —— —' 21.  Question shapes —
"] | [ DI — D
R IS | O]
T s — - | == [~ * |
[ — - Answer shapes —
‘) ' T\l,/) (\.' ] | 'j} C {'I“\ f'
A B C D W _JRNVAEN
A B C D
22. WV Hfaal —
- 22.  Question shapes —
m o @ ? -
g m-o @ ?
8 8 OOO OOO 08 O 7‘ Answer shapes — -
21O 9910000 |ogo
A B C D QO | O O o
A B C D
23. W S — 23.  Question shapes—

?Td] [L]? 714 472

Answer shapes —
SRR SRS
A B C D A B C D
24, wvE sEFiaE — 24.  Question shapes—
0[o] [O]? H[0] [O]7
IW sNFfaar — Answer shapes —
b IOKCO0 b OO0
A B C D A B C D

(6]



= 7

I AHfA —
| B TR BE
A B C D

freor: wom wdies 26 | 30 9% yum 2 fagi 8§ #1 w
oy ¥ 3 gay F oF H @ g0 IW g fasi 7 A
Hren fom Bifed -

26.

27. A

28. Z

25.  Question shapes —

OQ EH?

Answer shapes —

T

A B C D

Directions: Question Nos 26 to 30 have a certain
relation with each other in first two figures, Bearing
that relationship in mind. pick up the fourth figure
from the answer figures —

26.

oh ?

Answer figures —

44 s o +.

A B C D

27. A

Answer figures —

™~

A B C D

28. XM

Answer figures —

<

A B C D

P.T.O.



29. o : ?
W faa —
A .B C _D
30. ~v ‘ ?
IW fam —
A L F
A B C D

WY . 31 AW . 35 § 71 =5a21 & 39R W IaR
i -
18594712583659276452926
4123514283

31. 20 A IREd 3iF & 91¢ gigdl 3F T
(A) 3 B) 1
©) 2 D) 7
32. W fEad s ¥ o @l o U §, gees god
R
(A) = = (B) @
© A (D)
33. fod 4 s a e e § siRgia o
u fowm wem 2
(A) =T (B)
€ = (D) =

8]

29.
| —— : ?
J
Answer figures —
A B C D
30.
hd ¥ = K
Answer figures —
A B C D

On the basis of following arrangement give answers
of 31 to 35—

18594712583659276452926
4123514283

31.  Whichdigit is the 5" left of 12* from right?
(A) 3 (B) 1
() 2 (D) 7

32. How many 5 are there in the arrangement
immediate after which is the digit smaller than
5?
(A) None (B) One
(C) Two (D) Three

33. Howmany 4 are there having an even number
immediate before it and odd number immediate
afterit?
(A) None (B) One
(©) Two (D) Three



g siF fem feu s A sggen & am @ 34, Afterremoving all even numbers 7th number

qrad] 37F 20T - from left of the arrangement is-
(A) 9 B) 5 Ay 9 B) 5
) 1 (D) 3 ) 1 (D) 3

TR EE it faa 1 2 fE A waw ¥ 35. How many 1 are there in the arrangement

T Teet U qof ot &2 having complete square immediate before it?
(A) =% & (B) (A) None (B) One
€ = (D) = (C) Two (D) Three

. 36. How many triangles are there in the followin
feu o fa= 9 faraa foam &2 fiure? g
(R) 8 B) 12 (A) 8 ®) 12
(€) 14 (D) 16 (C) 14 (D) 16
fei M3 fa= # farat wem o o &2 37. Howmany squares are there in the figure below?
(A) 14 B) 16 (A) 14 B) 16
(€) 10 (D) 20 © 10 D) 20

4 = fosi |1 A, B, C 991 D gr1 gt 38. Given below are four diagrams represented as

¥ 137 A -1 fa3 A fe e AN A wd - A, B, Cand D from the following diagrams
gay F zvia 2 which diagram represent a correct relationship

between these words given below?

nfeen, e, =iz

Women, Teacher, Doctor
A B C D A B C D

(9] P.T.O.



39.

40.

(A) A
() C

(B) B
D) D

8 | F-m fa3 ofeen, 97 3 =EsmR §
el Hay =) gufdr 22

(©) @ (D)

fea My F we fawen g

7 (A (A

7617\ ‘
' 1/

¥y i37} f\\36[|37 7
. ~ ~l N

ke

(A) 30
(©)

(B) 24

18 D)y 12

fdor: wvw waiE 41 W 45 9 23 03 fawed § 7

Heifud s1ar / ez / Hem 9 ¢

41. DEF : EFD :: FGH : ?
(A) FHG (B) HGF
(C) HFG (D) GHF

42. AZB : CYD :: EXF : ?
(A) GWH By FGV
(C) TMR D) QSV

43, W : YRd :: ZEEE : ?
(A) == (B) AfFga
(C) =rsfte (D) 3UaT

[10]

39.

40.

(A) A
) C

B) B
D) D

Choose the diagram that illustrates the
relationship of females, mothers &

postgraduates.

(B)

(D

Choose the correct option in the following.

(A)
(©)

(D)

(oI (35N (T3
SN
(A) 30 (B) 24
(C) 18 Dy 12

Directions: In Question Nos 41 to 45, select the
related letter/word/number from the given

alternatives :

41. DEF : EFD :: FGH : ?
(A) FHG (B) HGF
(C) HFG (D) GHF

42. AZB : CYD :: EXF : ?
(A) GWH B) FGV
(C) TMR (D) QSV

43. Maharashtra :India :: Texas : ?

(A) Canada
(C) Brazl

(B) Mexico
(D) U.S.A.



44.

46.

47.

48.

49.

50.

%@ : FEAEtE 1 gaE : 2
(A) a3 faaret

(B) sneteifee

(C) =Wt

(D) dfz= fagrt

5 :3 06 : 7
(A) 48
(C) 50

(B) 49
(D) s6

f&dt mr@ &1z & PAINT =t RCKPV 7
STOMP #1 UVQOR fomar 5 € 139 #is
HELPS =1 ferar smam |

(A) JGNRU (B) GJNRU
(C) KONRU (D) JGNSU

& Iftar § U =Afs, ITE I, 6 g3 I
ufe ] 3R g 7 & far § dE-d1 o= 2

uftar § Fe fhas we= €2

(A) 12 (B) 13

(C) 15 (D) 17

F4 W fe7 w1 =1 anfad feq =& € gear?
(A) HHaR (B) wFar

(C) wmeran (D) faam

form den & l% il lfl' Al s 216 B2
(A) 100 (B) 120
(C) 140 (D) 180

T 25 P2 39 Td THEl & IS Hl HIEHL dH
A AT & TH S FATC T | FdH THS Sl Targ
arr

(A) 8F213d
(C) 8233w

(B) 8%263H
(D) 8%243d

44.

46.

47.

48.

49.

50.

Heart : Cardiologist :: Kidney : ?
(A)
(B)
©)
(D)

Endocrinologist
Orthodontist
Nephrologist
Neurologist

5:36 :: 6:7
(A) 48
(C) 50

(B) 49
(D) 56

In a certain code PAINT is coded as RCKPV
and STOMP is coded as UVQOR. What will

be the code of HELPS?
(A) JGNRU (B) GINRU
(C) KONRU (D) JGNSU

A family consisted of a man, his wife, his three
sons, their wives and three children in each
son’s family. How many members are there in
the family?
(A) 12
(C) 15

13
17

(B)
(D)

Last day of a century cannot be -
(A) Monday (B) Friday
(C) Tuesday (D) Sunday

1% of 1% of which numberis 216?

(A)
©)

100
140

120
180

(B)
(D)

A 25 feet 6 inches long piece of wood is cut to
make three pieces of equal length. The length
of each piece is-

(A) 8ft. 1inches
(C) 8ft.3inches

(B) 8ft.6inches
(D) 8ft.4inches

(11]

P.T.O.



WTHT -1 HTSTSTe

ENGLISH
Directions: Questions 1 to 10 8. of the boys gave a rupee to
Choose the word which best fills the blank from the beggar.
the four options given: (A) Every (B) Anyone
(©) Al (D) Each
1. The Colonel his brave
soldiers. 9.  The Himalayas the highest
(A) ordered (B) orderedto mountain ranges in the world.
(C) requestedto (D) saidthat (A) (B) are
(C) am (D) can
2. lwas by the maddening
behaviour of the clerk at the post office. 10. A wiseenemy is thana
(A) impressed (B) infuriated foolish friend.
(C) delighted (D) admired (A) good (B) better
(C) best (D) none of these
3. Iplayed football
(A) today (B) Yesterday Directions: Questions 11 to 20
(C) tomorrow  (p) tonight Choose the most appropriate word to fill in the
blanks.
4.  T'wasnot hungry. I had just my
lunch. 11.  Alexander was taken with the
(A) have (B) nothave question.
(C) nothad (D) had (A) aback (B) for
(C) rough (D) rude
5. The dog was jumping around me,
my face and hands. 12. My school building is bigger my
(A) licking (B) liking house.
(C) leaking (D) looking (A) then (B) den
(C) than (D) that
6. When Neeta to my home yesterday
[ was writing a letter. 13. Life is an eternal teacher for of us.
(A) come (B) hascome (A) none (B) all
(C) wascoming (D) came (C) some (D) any
7. Tlast went to a tour two years . 14, Iclaimtobe to none in all Paris.
(A) before (B) ago (A) first (B) second
(C) after (D) then (C) third (D) fourth
[17] P.T.O.




15.  Winners should not laugh the losers.
(A) on (B) over
(C) at D) n

16. 1had to go the work

(A) cite (B) sight

(C) 'site (D) slight
17. My brother is a doctor.

(A) oldest (B) older

(C) senior (D) eldest
18. Dr. Abdul Kalam had a desire

to fly.

(A) long-cherished

(B) dormant

(C) dull

(D) feeble

19. Do not search for God in places.
(A) clean (B) vague
(C) obscure (D) known

20. Do not to have wanted things in
life.
(A) aspire (B) expire

(C) ceasefire (D) none of these

Directions: Questions 21 to 30. The following
passage contains numbered blank spaces. Fill in the
blanks with the appropriate word given in each case.
Students who are very fond of reading are 21 labelled
by their companions as 22. This criticism generally
comes from 23 who consider 24 better in sports.
Students who shine in athletics or in games consider
that it is 25 to spend time and energy in 26 arena
than in a classroom or at 27 desk. All the same they
do envy their 28 who shine academically. Academic

honour has a glamour 29 is unique. Itis not to be 30
that playing games is a useful and healthy activity.

21. (A) just (B) often
(€) now (D) never
22. (A) readers (B) book-worms
(C) fellows (D) friends
23. (A) students (B) readers
(C) witers (D) none of these
24. (A) them (B) him
(C) themselves (D) himself
25. (A) better (B) greater

(C) healthier (D) finer

26. (A) areport (B) asport
(C) aport (D) acourt
27. (A) write (B) read

(C) reading (D) fine

28. (A) fellows (B) juniors

(C) senior (D) none ofthese
29. (A) who (B) whose

(C) which (D) why
30. (A) refused (B) denied

(C) declined (D) referred

Directions: Questions 31 to 40. Read the following
passage carefully and answer the questions given
below it.

Emperor Ashok was one of the earliest Indian
monarchs who planted shady trees onroads and in

(18]



public places. The Moghuls, too. realized the
necessity of shade on the roads which they
constructed. But there was no conscious planning
and the peepal, banyan and pakur trees were
indiscriminately mixed with neems, tamarinds and
mahuas. It was only in Kashmir that they showed
some preference for planning and planted magnificent
avenues of chinar along the banks of the river Jhelum,
which can be seen at their best at Ganderbal and
Mattan on the way to Pahalgam.

A plantation plan for our national, state and
district highways is urgently needed. At present our
roads are planted by the P. W. D. engineers who are
ignorant of trees. Ultimately, the planting of new trees
and replacement of dead trees is left to gardeners
alone who plant any tree which comes handy. The
result has been unfortunate and our roadside avenues
have become a mixture of odd trees.

31. Who was one of the earliest Indian Monarchs
who planted shady trees on roads and in public
places?

(A) Ashok
(C) P.W.D.

(B) Moghul Empire
(D) Engineer

The word *‘monarch’ has been used for

(A) Emperor Ashok
(B) Moghuls

(C) Engineers

(D) None

‘w
w

‘Public places’ means

(A) open places

(B) places open for public

(C) places of public interest
(D) places to be used by public

(19]

34.

35.

36.

37.

38.

39.

40.

Who realized the necessity of shade on the
roads after Ashok?

(A) Thepublic (B) The Moghuls
(C) Theengineers (D) None of these

Planting of trees was first planned in
(A) Kashmir
(C) states

(B) public places
(D) None of these

At present, who plans the roads?
(A) The government

(B) TheP. W.D.

(C) The state

(D) Engineers

The avenues of chinar are to be found :
(A) onhighways

(B) on state ways

(C) inpublic places

(D) Along the banks of Jhelum

What do ‘tamarind” and *mahua’ represent?
(A) Name of the trees

(B) Name of'the roads

(C) Name of the places

(D) Name ofthe river

The word *ultimately” means
(A) firstly (B) lastly
(C) finally (D) finely

The planting of new trees and replacement of
dead trees is left to gardeners who plant?

(A) Systematically

(B) Methodically

(C) any tree that comes handy
(D) nothing

P.T.O.



Directions : Questions 41 to 50. Fill in the blanks
with appropriate words given at the end.

41.

42.

44.

45.

Rabindranath Tagore was awarded the Nobel
Prize for

(A) History (B) Science

(C) Music (D) Literature

She is a nurse nor a doctor.

(A) Either (B) Or

(C) Neither (D) None

The patient had died the doctor came.
(A) before (B) after

(C) just (D) soon

Nitin is richer his elder brother Sachin.
(A) as (B) than

(C) then (D) with

He played cricket I worked.
(A) and (B) but

(C) at (D) test

46.

47.

48.

49.

Just look after my luggage while I go and get
the ticket from the

(A) Book office
(B) Booking office
(C) Office

(D) None of these

He is sad but hoping for the

(A) Last (B) best

(C) Jest (D) None of these
The bird the branch.
(A) flewon (B) fell

(C) flew off (D) flew of
Which house did you live ?
(A) on (B) in

(C) into (D) at

The dog jumped the river.

(A) in (B) into

(C) with (D) on

[20]



WITT - 111, Stfaren Jraer
PART-III, SCHOLASTIC APPTITUDE TEST

Hifes v
PHYSICS
=1 ® | &= = ar A 22 1.  Which one of the following is not a star?
A) T (B) =zm (A) Sun (B) Moon
(C) @AY (D) dem (C) BigBear (D) Libra
uF Teltd gdur & wiEE g 20 W #1389 2. The focal length of a spherical mirror is 20 cm.
o1 St ashan e Bt The radius of curvature of this mirror will be:
(A) 1034 (B) 20 & (A) 10cm (B) 20cm
(C) 4037 (D) 80 & (C) 40cm (D) 80cm
afe A, AT AL SHEE: oS TS Sy feo 3. If A, and A are wavelengths of light rays of
s av;é'éli ¥ ?Vh ) red and violet colours respectively then:
(A) A, <A, B) A, >A, (A) A, <A, B) A, >h,
©) A=A, (D) =78 A FE 7 (C) A, =h, (D) None of these
- . — 4. To correct the defect Myopia or near
diaad APRFA T sightedness, we have to use:
FH B (A) convex lens
(A) W@ E (B) concave lens
(B) 37ae AfF (C) plane glass
(C) §Haa HId (D) none of the above
(D) 3w H 8 FE T2
5.  Which of the following colours is not a
e 8 & i 1 4 i 4 22 orimary colour?
@A) T B) (A) White (B) Green
(C) Red (D) Blue
(C) == (D) e
. 6. The image of an object in human eye is
e &1 3@ A fodt avg 1 wiafea a7 2 formed at:
(A) SR (B) smEfmwm (A) Cornea (B) Iris
(C) =fte = (D) = (C) Pupil (D) Retina
2 TR it % sAv F fag A A fag B aw a 7.  The work done in carrying a charge of 2

s H faan man @ 6x10- 4 5@ 71 31 faga
¥ 7oy favara g

(A) 600 @ (B) 500 dree

(C) 3003w (D) 10038

[21]

micro coulomb from point A to point B is
6x10-4 Joule. The potential difference
between these points will be:

(A) 600 volts (B) 500 volts
(C) 300 volts (D) 100 volts

P.T.O.



10.

11.

12.

13.

20 31 & wfay ¥ 0-2 weie #1 9 yarfza &
@ & | wfadiy & 21 fadi & 7wy e e fava
2

(A) 403z

(B) 20d=
(C) 10d== (D) 43
ferega wirex ua Ut gfaq & S oftafda s 2

(A) Tt 3l @ ot ot &
B) faeda 3t 1 it o 4
(C) wwira s = faregta s
(D) wia zsit 1 it i §

T 39 faguid W Fa
(A) faz@ stoeeA

(B) wirg faferor

(C) foega gramia I

(D) 37 |+ 7

4 @ & =R wfaly g9ia w8 § S T ¥
gfromedt wfader g .
(A) 43
(C) 23

(B) 33w
(D) 13

YA H Y3 Fi 9 aTelt Femadt ¥R 1 i
1 HH BT 2

(A) 50%
(C) 100&

(B) 60 &
(D) 2207

e frad wfady & 9 | 93 arel 91 1 9F 3w
F fezn S a 359 3= 19 At S A
(A) AT (B) 30u1E S

(C) @ =hai & smem (D) =R T g S

10.

Acurrent of 0.2 Ampere is passing through a
resistance of 20 ohm. The voltage applied at
the ends of resistance is:

(A) 40volts (B) 20volts

(C) 10volts (D) 4volts

Electric motor is a device which converts:
(A)  Electrical energy into thermal energy
(B)  Electrical energy into mechanical energy
(C) Thermal energy into electrical energy
(D) Thermal energy into mechanical energy

Dynamo works on the principle of
(A) Electrolysis

(B)
(C) Electromagnetic Induction
(D) None of these

Thermal Radiation

Four resistances of 4 ohms are connected in
parallel. The resultant resistance will be:

(A) 4ohms (B) 3 ohms

(C) 2ohms (D) 1 ohm

The frequency of alternating current supplied
inIndiais:
(A) S0Hz
(C) 100Hz

(B) 60Hz
(D) 220Hz

[f the current flowing through a fixed resistor is
halved, the heat produced in it becomes:

(A) Double (B) Half

(C) Onefourth (D) Fourtimes

(22]



15.

16.

17.

18.

19.

I 9T
CHEMISTRY
14. & FIW Gohe & At faea d 5w F1 22t

Za ¥, @ 9 v 9. 1 vftafda 8 s 2 —

(A) T (B) =T
(C) R (D) fien & war
AT 1 Ee & —

(A) (-CHy-CHp—-)n

(€©) (~CF-CF, ~)n
(D) T d FE |
SO, # Hew A F FArSTha 3741 &2

(A) 3 B) 1
€ s D) 6

oA =1 anfasr fea —
(A) I3 dmga (B) Fefaw
(C) 3. MesEHA (D) wWHE

Cl" =1 st fa=ama #0272

(A) 2,87 (B) 2 8,8

(C) 2,86 (D) 2,881
CH;
|

CH}'-(I: —CH3 mmmﬁﬂﬁﬁql
CH;

A) ===

B) 2, 2 eEfmuEa W=

(C) 2 -fauma =g

(D) 2, 3 sEfaura WA=

(23]

14.

15.

16.

17.

18.

When in the blue solution of Copper sulphate,
zinc strip is dipped, after some time the colour
changes to:
(A) Pink
(C) Colourless

(B) Green
(D) Remainsblue

Formula of Teflon is:

(A) (-CHy-CHj-)n

(©) (~CFy~CF-)n
(D) None of these

In SO, what is the valency of sulphur atom?

(A) 3 ®) 1
<€ 5 D) 6
Proton was discovered by:

(A) J.J.Thomson (B) Chedwick
(C) E.Goldstein (D) Rutherford

What is the electronic configuration of C]™?

(A) 2,8,7 (B) 2.8,8
(C) 2.8,6 (D) 2,8.8.1
CH,

I
Write the [UPAC name of CH; — C —CHj3.
l

CH;
(A) Neo-pentane
(B) 2,2 dimethyl propane
(C) 2-methyl butane
(D) 2,3 dimethyl propane
P.T.O.



20.

21.

22,

23.

24,

Eifect H§ FeA-FE wEY] F 9 wE-m 20,

Y T S 2

(A) UH gEEaSE 9y
(B) f&= geddo sy
(C) fo= gegdies 9y
(D) faza g4/ dy

fgdra o & ol & sot faam a2 21

(A) 1s?,2s? 2p2

(B) 1s?,2s° 2p'
(C) 1s*,2s% 2p°,3s?
(D) 1s%,2s° 2p6.3$I

forem =1 TamEfs g ® —
(A) CaSO,

B) ZnSO,

(C) CaSO,.2H,0

D) CaSO_.H,0

afe frdt s # 12 =2 ¥ wE sme w23,

FE 11 % @ 39 W § fhas e 2

(A) N (B) 12
(€) 23 D) 1

fad § g & —
(A) Cu 3 Sn

24.

(B) Cu 3 Ni
(C) CudZn
(D) Mg 3 Al

[24]

22.

Which type of bond is present between

carbon-carbon atoms in acetylene?
(A) Single covalent bond

(B) Double covalent bond

(C) Triple covalent bond

(D) Electrovalent bond

What is the electronic configuration of the

elements of II group?

(A) 1s*,2s% 2p?

(B) 152,2522pl

(©) 1s%,2s°2p°, 3s?
D) 1s*,2s%2p°,3s'
Chemical formula of Gypsum is
(A) CaSO,

(B) ZnSO,

(C) CaSO,.2H,0

(D) CaSO,.H,0

If there are 12 neutrons in an atom and its

atomic number is 11. How many protons are

present in it?
(A) 11 B) 12
(C) 23 D) 1

Brass contains :

(A) CuandSn
(B) CuandNi
(C) CuandZn
(D) MgandAl



25.

26.

Afeeess framas ug F1 5= #7172

(A) —C=0
|
B) —0=C -H
0
|
© — C-H
]
D) — C-0-H

Tifeam FEe & o faega 7 CO, =
sfysrar # yarfed W W g7 aren v
& —
(A)
®)
©)
D)

NaOH
NaHCO,
Na,CO,.10H,0
Na,CO,. H,0

25.

26.

What is the structure of aldehyde function
group?
(A) —C=0

|
B) —»0=C -H

0

©c — C -H
0

m — C-O0-H

On passing CO, gas in excess in aqueous
solution of sodium carbonate, the substance
obtained is:

(A) NaOH

(B) NaHCO,

(C) Na,CO,.10H,0

(D) Na,CO,. H,0

[25]
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27.

28.

29.

30.

31.

32.

33.

Sira fam

BIOLOGY

T HIveT | 128 HIWHT a1 § et an
Tt faurs gm —

A) 7 (B) 8
(&) D) 4
Seifer gafaa @ —

(A) feezrd (B) R
(C) wHiferar (D) andrdrsTd
e vgfa ¥ wuw wes guf@l & —

(A) ifa (B) 4w

(C) 3ysifa (D) 779 q &K 7
=d Gafd § —

(A) e @ (B) wewifam @
(C) wifa=r @ (D) Y<ifea &
frfm v’ sH Ada & —

(A) Ff-ad

(B) TH3rETar (i)

(©) Tt

(D) wat

fr=1 § | F19 wE 72 3 o @2
(A) wrEaeh (B) =M

(C) =@ (D) ==
faye! Aiee dafud & —

(A) = ® (B) #g3ia
(C) 3«id (D) A

[26]

27.

28.

29.

30.

31.

32.

33.

Number of mitotic divisions required to
produce 128 cells from a single cell is -

A 7 B) 8
<€ 6 D) 4
Obelia belongs to —

(A) Coelenterata (B) Porifera
(C) Annclida (D) Arthropoda

In binomial nomenclature first word indicates
(B) Genus
(D) None of'these

(A) Species
(C) Sub species

Whale belongs to:
(A) Mammalia (B) Amphibia
(C) Annelida (D) Reptilia

Deficiency of vitamin ‘A’ causes —
(A) Beri-Beri

(B) Anaemia

(C) Night blindness

(D) Scurvy

Which of the following cannot be considered

as a receptor?
(A) Muscle (B) Ear
(©) Eye (D) Nose

Chipko andolan is associated with:
(A) Tomatoes (B) Turtles
(C) Trees (D) Lions



34.

w
n

37.

40.

fr= J | =1 W verd S9 freiga 7@ 2 2

(A) uefafas wiza

(B) sl = ggE

(C) =ms

(D) =uE

Sita # fe@r 23 9e @8 FEdd & —
(A) wHEEY (B) iRy
(C) w=ifrry (D) vERREY
femars IME —

(A) e (B) =mfan
(C) w=m (D) fererfem
e = FEl el e —

(A) =iftmizad  (B) wEawii-gad
(C) F==wd (D) TEEEHH
37t a1 fopga ST Bt 82

(A) CO B) SO,

€ O, (D) IHF T
frefafea § | wd@iiga d@h & —

(A) Frgern (B) a=

(C) = (D) w2

9 &1 aFeEfas 9H & —

(A) uwsifstaergfes
(B) urzHy HZRaH
(C) =*fam frgen
(D) sifas wHfgw

35.

36.

37.

38.

39.

40.

Which of the following is not a biodegradable
material?

(A)  Aluminium foil

(B) Animal bone

(C) Wood

(D) Cotton

The visible characteristics in an organism are
known as:

(A) Phenotype
(C) Stereotype

(B) Genotype
(D) Prototype

Sexually transmitted disease is :

(A) Malaria (B) Diarrhoea
(C) AIDS (D) Hepatitis
Kreb’s Cycle takes place in:

(A) Cytoplasm (B) Mitochondria
(C) Nucleus (D) Ribosome

Acid Rain is caused by:
A) €O (B) SO,
C) 0O, (D) Alloftheabove

Which one of the following is a renewable
resource?
(A) Coal
(C) Forest

B) Oil
(D) Petrol

Botanical name of Margosa (Neem) is:
(A) Azadirachtaindica

(B) Pisum sativum

(C) Cassia fistula

(D) Brassica Compestris

[27]
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41.

42.

43.

44.

46.

47.

48.

gfae

HISTORY

frafafeas 4 4 @@ 7w fdy g | Fafug
B

(A) HrTERE (B) Freftam
(C) whga (D) TR
frefafaa o @ S 38 998 gr=H=aE 91?2
(A) Fag (B) wmag
(C) wedd (D) =i
TSV ] HEATYH 91 —

(A) gma (B) FRIw
(C) == (D) ¥
=g fohg wrasE & F1a ° Y 317
(A) ToEHA (B) wdaHq
(C) afeada (D) draddq

after-ga 3 fFg TR =it w99 &2

(A) =& B) fasaR
(C) feeeht (D) HEERETR
ares fHa aam 91?2

(A) == (B) FFR
(C) wmEswEl (D) 3o
9N % <) HeH s 1Y € —

(A) it 3R sfas

(B) 1AW 3R wEIMRA
(C) =nfas iR $ot s@wm
(D) FH R FaA

3ifaw qa e S 91?
(A) s 11
(B) wegwme Il (FTH)
(C) weaEfgar |l
(D) g e 1

41.

43.

44.

45.

46.

47.

48.

28]

Which of the following city is not related with
Indus civilization?

(A) Mohanjodaro (B) Kalibanga

(C) Lothal (D) Patliputra

Which of the following was the oldest veda?
(A) Rigveda (B) Samveda
(C) Atharvaveda (D) Yajurveda

Founder of Gupt Dynasty was:
(A) Shree Gupt (B) Kumar Gupt
(C) Skand Gupt (D) Samudra Gupt

Huen Tsang song came in the period of :
(A) Rajvardhan  (B) Harshavardhan
(C) Balivardhan (D) Shrivardhan

Which city was established by Harihar -
bukka?

(A) Bahmani
(C) Vijaynagar
(D) Mohammad Nagar

(B) Delhi

Taj Mahal was built by:
(A) Babar (B) Akbar
(C) Shahjahan (D) Aurangzeb

Two great Indian Epics are:

(A) Geetaand Bible

(B) Ramayana and Mahabharat
(C) Bible and Irani Avesta

(D) Quranand Rigveda

Who was the last Moghul Emperor?
(A) AlamgirIl

(B) Bahadurshah Il (Zafar)

(C) Farrukh SiyarIl

(D) ShahalamII



49.

S1.

53.

54.

SS.

YRAT TG HH & YYH 37244 i 97
(A) === St

(B) SiamRes TEw

(C) et <

(D) 3We d | g &

(B) 1925-26
(D) 1927-29

(A)
©)

1920-22
1918-20

A ASYaE A ITATG =< &1 g fwan
zn_.

(A) o= H (B) fmmm i
(C) feud (D) s@aud
TSI Traaa € ..

(A) @mé seRst  (B) @rE @feEn

(C) fafgmm afén (D) =emE

FUS HAWE 1 URY ey & f&g e 4

ga?

(A) =R (B) =R
(C) g (D) e
eHe TR 9 NIfta gan?

(A) 1918 (B) 1919
(C) 1920 (D) 1922

FEE s 1 T fREa 5 oodt?
(A) wafde

(B) == 3T

(C) v fagrd 9

(D) guwE=sF"

49.

50.

S1.

52.

33

54.

SS.

Who was the first president of Indian
National Congress?

(A) Bomesh Chandra Banerjee

(B) Jawaharlal Nehru

(C) Gandhiji

(D) None of the above

Non Co-operation movement continued till

(A) 1920-22

(C) 1918-20

1925-26
1927-29

(B)
D)

Lala Lajpat Rai led the extremist movement
in:

(A) Punjab
(C) Sindh

(B) Haryana
(D) Awadh

Doctrine of lapse policy is related to
(A) LordDalhousi (B) Lord Hesting
(C) William Bentick (D) Sir Thomas Ro

Which city of Madhya Pradesh “Jhanda
Satyagrah” was started?

(A) Indore (B) Sagar

(C) Jabalpur (D) Bhopal

When was the Rowlatt Act passed?
(A) 1918 B) 1919
(C) 1920 (D) 1922

Who established ‘Forward Block’?
(A) Bhagat Singh

(B) Chandrashekhar Azad

(C) Rasbihari Bose

(D) Subhash Chandra Bose

(29]
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60.

61.

I

GEOGRAPHY

e 1@ IRA % T Todl | g1 TeRd 27 56.

(A) B) =
(C) =m (D) 312

TEyym A fog 1985 § fm a3 F 2@ ™
17

(A) zfamemfam  (B) ufvesd 33w
(C) s=rhfeam (D) 7erEn

57.

3veH vd Fraar g vy d Fa g st ven S8

armm farat 22
(A) 385 (B) 209
(C) 436 (D) 572
59.
TeRYA ¥ 9gd F1 99 2t & i —
(A) F@aga ™ 21

(B) Ot &1 F FRO gan I 7@ 62
(C) 9a+l & U= § &8 2@09F 921 ¢ foaa
THFL Y94 HT ISHL 2 B T |

(D) 39 &7 9% HAGA T8 96 U 2 |

=1 9 A foFm o | wredt va v ot = o
ST &2

(A) TSa (B) ds=
(C) weawey (D) wew=
1 8 A e T w1 I WH FEl 87 61.
(A) =% (B) =
(C) w=Er (D) @vzEal

[30]

60.

“Tropic of Cancer’ passes through how many
states of India?

(A) Five (B) Six

(C) Seven (D) Eight

In which of the following area the ozone hole
was observed for the first time in 1985?

(A) SouthAmerica (B) Western Europe
(C) Antarctica (D) Alaska

How many islands are there in Andaman and
Nicobar Islands?

(A) 385 B) 209

(C) 436 D) 572

Rajasthan receives very little rain because:

(A) Itistoo hot.

(B) Due to scarcity of water the winds
remain dry.

(C) The winds do not come across any
barrier in their path hence are not
uplifted to get cool.

(D) Monsoon fails to reach this area.

In which of the following states Black and
Regur soil is not found?

(A) Gujarat (B) Punjab

(C) Madhya Pradesh (D) Maharashtra

Which of the following is the place of origin of
Chambal River?

(A) Mhow (B) Neemuch

(C) Mandsaur (D) Khandwa



62.

63.

64.

65.

66.

67.

Hyg g1 fFm war & o1 § o 9 ¥2
(A) 3w wfeasda aui 59

(B) fidrem a4

(C) =a9dg a4

(D) @&HIA T

Tde 9y fra § F farg 76 w == ™ R0

(A) Haos (B) Fom
(C) werel (D) Tm

7 9 9 @ =t 7t sy g g § faerd
22

(A) ==
(C)

(B) @
(D) Tew

frafafea § @ =1 @ 92em § siaws ==&
I &7

(A) HTHT (B) W@
(C) ¥ (D) =TIl TeEr
‘aremEr’ wfag ® —

(A) TS 3are & fam
(B) wufifs wa & feag
(C) T % wrEn ¥ fag
(D) & 3eare

‘U Y-aritg FTEYE GeE we frud 32
(A) T (B) feeit
(C) Zemar (D) 3@EHTETR

[31]

62.

63.

64.

65.

In which type of forests mangrove trees are
found?

(A) Tropical rainforests

(B) Temperate forests

(C) Tidal forests

(D) Thomy forests

Hirakund Dam is built on which of the
following rivers?
(A) Satlyj

(C) Mahanadi

(B) Kirishna
(D) Ganga

Which of the following rivers join the sea
through an estuary?
(A)  Ghaghra
(C) Narmada

(B) Son
(D) Gandak

Which of the following rocks do not contain
fossils?

(A) Marble
(C) Shale

(B) Igneous
(D) Sandstone

66. “Balaghat” is known for :

67.

(A)
®)
©)
D)

Manganese production
Religious place
Railway workshop
Diamond production

Where is National Geothermal Research
Institute situated?
(A) Mumbai

(C) Hyderabad

(B)  Delhi
(D) Ahmedabad

P.T.O.



68. 7= 4 & 3 d wiw &t vy T 272 68. Which of the following is not a kharif crop?
(A) =mEa (B) @@ (A) Rice

(B) Pulses
(C) “ER-"rs[ (D) HramEt (C) Jowar - Bajra (Sorghum - Pearl millet)

D) Soyabean

6%, 20m i ¥ SRR T 69. Which state has the lowest population density

ST ST T HH R according to 2011 census?
(A) femraa v (A) " Himachal Pradesh
(B) 315vmEe weW (B)  Arunachal Pradesh
(C) smm (C) Assam

D) fasiem (D) Mizoram

70, oa A fr A @ #F @ ST we a2 70. Which of the following is the biggest port
' ; W in India?
(At) . ®) ) (A) Paradeep (B) Tuticorin
(©) i @) 5= (C) Kandla (D) Mumbai
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71.

72.

73.

74.

75.

BRI EC R IE=]

CIVICS
YRA & HfETH L 2 71.
(A) e
(B) #aR

(C) writen wd F38R a1
(D) 3W%H F FE 8

YA & dfaur d difas w9 fag ad wia
f&a ma?

(A) 1975
(C) 1977

1976
1978

®)
D)

gegyew ¥ faum g ¥ 92 =1 g faat
2?2

(A) 228
(C) 230

(B) 229
(D) 231

YRdrg dfaur faa fafa @ yya & sman
(A) 26 S 1949
(B) 26 &t 1950
(C) 26 9597 1949
(D) 26 F&aT 1950

9d % A frates smgea it fafaa feas g
F1 R 72

(A) Tgafd

(B) W

(C) TS

(D) zeAe AmE

72.

74.

75.

Indian Constitution is ....................
(A) Flexible

(B) Rigd

(C) Flexible and Rigid both

(D) None of the above

Fundamental duties are included in the
constitution of India in which year?
(A) 1975 (B) 1976
(C) 1977 (D) 1978

How many seats are there in state legislation
assembly in Madhya Pradesh?

(A) 228 (B) 229

(€) 230 (D) 231

On which date Indian Constitutution came into
effect?

(A) 26 January 1949

(B) 26 January 1950

(C) 26 November 1949

(D) 26 November 1950

The Chief Election Commissioner of India is
appointed by —

(A) President

(B) Prime Minister

(C) Govemor

(D) Speaker of Lok Sabha

[33]

P.T.O.



76.

77.

78.

79.

80.

9T

ECONOMICS
9 H yf GUR Fd%H Fa A g3? 76. When was land reform programme introduced
A) afcw Fad in India?
(B) T F A (A) During Vedic Period
(C) fafew @ & (B) During Mughal Period
(D) aFa® e (C) During British Period
(D) After Independence

2 RANAG A i 77.  Which five year plan is continuing in India, at

o, present?
(2) ®) (A) Fifth (B) Eleventh
© ®) (C)  Sixteenth (D) Twelfth

frfafas ¥ | S TamEd T AR F 93
TegeR &2

(A) T T

(B) AR ATE

(C) viTwEas i

(D) wICTRTS A

famra & oTER Aeawey fHe oft § s 22
(A) fa=faa =

B) rEfaswfaa v

(C) fawrasia T4

(D) sfasfaa T4

‘foien’ 1 frefafaa & @ feg a3 o afwfea
feram <man @2

(A) wufis &7

(B) fedfras &=

(€) Fia® &

(D) o # q F¢ T

78.

79.

80.

Who among the following was great exponent
of Panchayati Raj System?

(A) Mahatma Gandhi

(B) Jawaharlal Nehru

(C) Shankar Dayal Sharma

(D) Lalbahadur Shastri

As per development, Madhya Pradesh comes
in which category?

A)
(B)
(©)
(D)

Developed state
Under-developed state
Developing state
Un-developed state

*Education’ is included in which of the following
sector?

(A) Primary sector

(B) Secondary sector

(C) Tertiary sector

(D) None ofthe above

(34]



81.

82.

83.

84.

TfoTa
MATHEMATICS

Afe U %1 wnfe 7y=a 2 a1 A 39 37891
T AUA’ =

(A) U B) ¢

€ A D) A’

3 37 F forelt Tem o 2ard & of T & o7
F1 T B | 3fg 3 B WER wed g, @ g@mn
18 %4 81 9wt ¥ | 99 e F -

(A) 24 (B) 36

€ 39 (D) 42

afe g fays ABC § tanB=13 g

sinB3RcosBHFame :
1 V3
(A) 0.1 ®) .
11 31
© 7w ® 73

TF 912 F1 %4 964 < 27.000=00 ? T 35F
gfEga 8 ¥ 2,400=00 =53 714 2 | 3fg =8 9
¥ 33,810=00 # ==, 78 @19 &1 e g :

A) 5% B) 10%

(C) 15% D) 20%

T faasl 1 UF WU BTN A B | FHAFH T
Yﬁﬁmﬁﬁﬁm%:

N B) —

(A) 2 (B) >

o = Dy >

©) 3 (D) 3

[35]

81.

83.

84.

85.

If U is any universal set and A is the subset of
U, then AUA’ =

(A) U ®B) ¢

<© A O A’

Ina two digit number, the numbér of ten’s place

is double of the number of unit’s place. If we
exchange the numbers mutually then the number
decreases by 18, then the number is —

(A) 24 B) 36
© 39 D) 42

Ifinarightangled triangle ABC tan B =3 ,
then value of sin Band cos B is :

1 V3

(A) 0,1 (B) 5,\/7—-
L 3

© % ® 53

The cost price of a horse is ¥ 27,000=00 and
transportation charges are ¥ 2,400=00. If
horse is sold in ¥ 33,810=00. The percentage
of profit will be :

A) 5% B) 10%

©) 15% D) 20%

Two coins are tossed simultaneously, the
probability of getting at least one head is —

b 3 !
@ 2 ® 3

2 3
© 3 ®) <

P.T.O.



86.

87.

88.

89.

90.

91.

TF ¥ & A 2744 cm? ¥ 1 3HE &
&AES B

(A) 196 cm?
(C) 784cm?

1176 cm?
588 cm?

®)
D)

wF gateg e #1 F9E 6 cm ®1 3
&TH B -

(A) 242 cem?
(©) 23 cm?

6\/5 cm?
3\/3 cm2

(B)
D)

T TS #t gor qensll & wen fagad =i

fiyem ol TErEve /9 § -
(A) wHiRwEgds  (B) @
(C) wHEgS (D) e

10 cm 1 a6t F9=gss H v fawol &1 oran
12 cm #, g&t faaof &1 oarg &t

(A) 4cm (B) 8cm

() 12c¢m (D) 16cm

afe fayst ABC & ¥itd &% : (0. 6), (-5, 3)
den (3, 1) ¥, 7@ f3s= &

(A) wHfgaE (B) wHfFa®
(C) | (D) T F=rE FT

faig P(- 4, 2) @ Q(8, 3) =\ frrerrd areft Tan
y-311 foe arama H fasra e @
(A) 31 B) 13
() 21 (D) 12

86.

87.

88.

89.

90.

91.

(36]

The volume of a cube is 2744 cm?3. Its surface

areais —

(A) 196 cm? (B) 1176cm?
(C) 784 cm? (D) 588cm?

The height of an equilateral triangle is J6 cm.
Its area is —

(A) 242 em?
(€C) 243 cm?

6\/5 cm?

3\/5 cm2

B)
D)

The line segment joining the mid-points of the
adjacent sides of a quadrilateral —

(B) Square

(D)

(A) Parallelogram

(C) Rhombus Rectangle
Inarhombus of side 10 cm, one of the diagonal
is 12 cm long, the length of second diagonal
will be —
(A) 4cm
©)

(B) 8cm
D)

12cm 16 cm

If the vertices of a triangle ABC are (0, 6),
(-5,3)and (3, 1) respectively. Then triangle is —
(A) (B) Equilateral

() (D) None ofthese

[sosceles
Rightangled

y-axis divides the line joining the points
P(-4,2)and Q(8, 3)in the ratio :
(A) 3:1 B) 13
(C) 21 D) 12



92.

93.

94.

95.

96.

97.

costx —sintx =

(A) 2sin®x-—1 (B) 1-2cos’x
(C) sin’x-cos?x (D) T A=E 7
I+sin® [1-sin@
“+ =
1—sin 6 \ll+sin9
2 2
(A) sin 0 (B) cos 6
2 2
© tan (D) cot O

g sin (A +B)=1d®@ cos(A—B)=§aa

A T B ¥ 9 8
(A) 45° 45°
(€)  60° 30°

B) 30° 45°
D) 0° 90°

T 3x% —43x+4=0 FgAE
(A) arafas 9 3@aH

(B) ar<fas g g9m

(C) =gt

(D) ardfas g Heafia Sl

T IR &7 i Uit 82 e & aen 3qa
fa%d 400 7 Hiex ® | 99 9! dreE g
(A) 9= B) 12¥=
(C) 16T D) 25H=

3 FEmsti & i @ o 180 7 1241 § 4 B
e #1 o1 9 gen &1 8§ T, 9| el
e ¥
(A) 32,4
(©) 16,2

24,8
18,12

B)
D)

(371

92.

93.

94.

95s.

cos?x —sintx =
(A) 2sin?x | B) 1 -2 cosx
(C) sin?x—cos®x (D) Noneofthese
1+sin0+ l—sine_
l—-sin @ l1+sinB
2 2
(A) sin 6 (B) cos 6
i 2 2
(© tan 6 (D) cot 8

S

If sin (A +B)=1and cos(A-B)= 5

then the values of A and B are :
(A) 45° 45° (B) 309 45°
(C) 60° 30° (D) 0° 90°

The roots of the equation 3x” —4+/3x +4 =0
are :
(A)
(B)
©)
(D)

Real and unequal

Real and equal
Imaginary

Real and Imaginary both

The perimeter of a rectangular field is 82 meters
and area is 400 meter2? Then the breadth of
the field is:

(A) 9 meter
(C) 16 meter

(B) 12 meter
(D) 25 meter

The difference of the squares of two numbers is
180. The square of the smaller number is 8
times the larger number. The two numbers are:

(A) 32,4 (B) 24,8
(€) 16,2 D) 18,12

P.T.O.



98. & TMER WiHd GEAS & ot & dm 421 ®,

99.

AU § ;
(A) 14,15 B) 21,22
(C) 9,10 D) 17,18

gt fFemE x + 2y = 6, 3x + 6y =18
(A)
(B)
(©)
D)

FETE
s Afgda g w@a
37d T TEdl €

T4 | HE T

100. afe fadt s & 3R &1 5590 ¢ &), 99 39t

F= h 9, 99 IHH T I8 AAEE B
(A)  2mrh

(B)  2mrh + 2mr?
(©)

D)

nr’h

T | FE T

98.

99.

100.

The sum of squares of the two consecutive
natural numbers is 421, the numbers are :

(A) 14,15 B) 21,22
(©) 9,10 D) 17,18

The system of equations —
X+2y=6,3x+6y=18

(A)
(B)

«©)
(D)

Is inconsistent
Has a unique solution

Has an infinite number of solutions
None of these

Ifris the radius of the base of a cylinderand h
is the height of cylinder, then total surface area
will be :

(A)  2nrh

(B) 2rrh+ 2mr?

(C) wr’h

(D) Noneofthese

[38]









